Chapter 10

Fiduciary Funds and Permanent Funds

Questions for Review and Discussion

  1.
Fiduciary funds are maintained to account for assets that governments hold as trustees or agents for individuals, private organizations, or other governmental units. Permanent funds are used to account for nonexpendable resources that the government holds to benefit its own programs and activities.

  2.
The full accrual basis helps to assure that administrators of endowment funds do not dissipate fund assets by inappropriately basing distributions on cash flows rather than economic earnings. By charging depreciation, they reduce reported earnings to reflect the economic decline of the related asset. Consequently, if they distribute all reported earnings, when the asset is fully depreciated they will have resources on hand equal to the original cost of the asset. These resources could then be used to replace the asset.

  3.
Inasmuch as the resources of permanent funds are usually intended to account for government-type activities and programs, the funds are classified as governmental. Therefore, to be consistent with government-fund accounting, they are accounted for on a modified accrual basis. In fact, with respect to permanent fund accounting, the differences between the modified and full accrual bases of accounting are generally minor, since permanent funds typically do not include significant amounts of depreciable assets.

  4.
The primary factors in determining whether investment gains are expendable or nonexpendable should be the wishes of the donor as set forth in the agreement establishing the endowment. If the agreement is silent on the issue, then the organization should look to applicable legal provisions. In the absence of any donor or legal restrictions, then, per the FASB in Statement No. 124, Accounting for Certain Investments Held by Not-for-Profit Organizations, gains (both realized and unrealized) should be reported as expendable. Per the GASB, all investments must be marked to market so presumably investment gains should be accounted for just as would ordinary income (interest and dividends).

  5.
Permanent funds are governmental funds; they should be reported in government-wide funds just as would other governmental funds. Income from permanent funds should be assigned to specific functions if the income is restricted to those programs. Otherwise it should be reported as investment income in the “general revenue” classification. Fiduciary funds should be excluded from the government-wide statements; they benefit outside parties, not the government itself.

  6.
By making the investment gains nonexpendable (adding them to principal), you will help protect the endowment from inflation. Assuming that at least a portion of net investment gains can be attributable to changes in the value of the monetary unit, the policy will help assure that the endowment principal retains its initial earning (and hence) purchasing power. The disadvantage of this policy, however, is that it assumes a direct relationship between the rate of inflation and investment gains. It uses investment gains as a surrogate for inflation, rather than taking inflation into account directly. Moreover, it may encourage the foundation, if in need of immediate income, to adopt investment strategies that will maximize current interest and dividends at the expense of overall return on investment.

  7.
Irrespective of whether the college is governmental or not-for-profit it should report as expendable earnings only the actual amounts that have been earned — thus 8 percent in year one and 4 percent year two. The decision to adopt the fixed rate of return approach is an internal decision; it has no legal or contractual import. The difference between the 8 percent that is reported in year one as expendable earnings and the 6 percent that is actually made available for expenditure should be added to unrestricted net assets. In year two the difference between the 4 percent that is reported as expendable earnings and the 6 percent that is made available for expenditure should be subtracted from unrestricted net assets.

  8.
The balance in the endowment fund (permanently restricted assets) should remain intact at $1 million. Inasmuch as $10,000 of previously recognized gains remains unspent in temporarily restricted net assets, the first $10,000 of the losses should be charged to that category of net assets. The remaining $40,000 should be charged to unrestricted assets (the balance of which was not indicated in the question)
  9.
A defined contribution plan is a pension plan in which the employer agrees to make specified contributions to a pension fund; the actual benefits to employees will depend on the investment experience of the fund. A defined benefit plan is a pension plan in which the employer promises specified benefits to employees upon their retirement. It is up to the employer to make the necessary contributions to assure that it has the resources to provide the benefits.


A defined contribution plan presents no major accounting problems. The employer charges an expenditure equal to the required contribution. By contrast, a defined benefit plan presents complex accounting problems in that the benefit costs must be allocated to the years in which the employees perform their services. Yet the ultimate cost to the employer is uncertain until it actually provides all the promised benefits. Hence, the employer has to estimate all the variables (such as mortality, earnings rates, etc.) that affect ultimate cost and determine a means of allocating the cost to the years of employee service.

10.
A government’s annual pension cost should equal its annual required contribution adjusted to take into account amortization of, and interest on, prior deficiencies in the government’s contribution. The annual required contribution is its normal cost, computed using one of several approved actuarial methods, plus or minus amortization of the government’s unfunded (or overfunded) actuarial accrued liability. The unfunded liability must be amortized over a period from 10 to 30 years.

11.
A government’s reported pension cost (not expenditure) should be its annual required contribution. However, governmental funds are accounted for on a modified accrual basis. Hence, the reported pension expenditure should be the annual required contribution liquidated with expendable available financial resources — that is, the amount actually contributed plus contributions expected to be made with current-year resources shortly after the end of the current year.

12.
The fundamental financial statements provide information only on plan assets less currently due liabilities (such as refunds or payments to current beneficiaries). They do not report on the actuarial liabilities either to current or to future retirees. Statement users have to look to supplementary schedules and notes for the required actuarial information.

13.
Like pensions, post employment healthcare benefits are earned while employees provide their services, yet they are not provided until the employees retire.  Thus, even though the costs of the benefits must be allocated to the years the employees provide their services, they are not known until many years later.  Accordingly, the employer must make various assumptions as to the amount of the cost and how it should be allocated.  

The problems of accounting for post employment healthcare benefits are even more intractable than those of pensions because the ultimate cost of postemployment healthcare benefits is subject to all of the uncertainties of ordinary pensions, such as mortality rates, turnover, and investment rates. In addition, however, it depends on the state of medical technology and institutional arrangements — factors that are virtually impossible to predict with reliability years in advance. 

14.
For many years now most governments have been funding their pensions on an actuarial basis.  Hence, their pension plans are nearly fully funded.  However, almost no governments have been funding their postemployment benefit plans.  Therefore, when governments first adopt the new GASB standards, their plans will be largely unfunded.  

15.
Agency funds are custodial in nature. All assets are held for the benefit of others. The government has no “equity” interest in them. It is often unclear whether resources relating to a particular activity should be accounted for in an agency fund or a governmental fund because it is not obvious whether the government is acting merely as a representative of another party or is carrying out the activity on its own behalf. For example in administering a “pass through” grant it may not be obvious whether the government is merely acting as the agent for the grantor in dispensing the resources or is performing substantive governmental functions by itself.

Exercises

EX 10-1
1. a

2. b

3. a

4. d

5. d

6. a

7. b

8. d

9. c

10. c

EX 10-2
1. a

2. b

3. c

4. d

5. c

6. a

7. b

8. c

9. b

10. a

11. d (assuming that the liability is the amount currently owed to employees, not the actuarial liability)
12. a

EX 10-3

1.
Journal entries

(1)

Cash 
$  20,000

Marketable securities
 100,000

Building
 400,000

Contributions

$520,000

To record assets received in trust

(2)

Cash 
$  31,000

Operating expenses
   15,000

Depreciation expense
   10,000

Rent revenue

$  46,000

Building—accumulated depreciation

  10,000

To record rental income and related expenses
(3)

Cash 
$ 26,000

Marketable securities

$ 20,000

Investment income

   6,000

To record the sale of equity securities (in this example, all investment income, including both realized and unrealized gains are being credited to investment income)
Marketable securities
$ 17,000

Investment income—appreciation

$ 17,000

To record the appreciation of $17,000 on the remaining $80,000 of securities
(4)

Cash 
$ 5,000

Investment income

$ 5,000

To record dividends

2.
Closing entries

Rent revenue
$ 46,000

Investment income
  28,000

Operating expenses

$ 15,000

Depreciation expense

  10,000

Income available for distribution

  49,000

To close the revenue and expense accounts
Transfer-out to special revenue fund
$ 49,000

Cash 

$ 49,000

To distribute the amount available to beneficiaries
Income available for distribution
$ 49,000

Transfer to special revenue fund

$ 49,000

To close the transfer account
3.
Balance sheet

Assets
Cash 

$  33,000

Marketable securities

  97,000

Building
$400,000

Less accumulated depreciation
    10,000
  390,000
      Total assets

$520,000

Liabilities

             0
      Net assets

$520,000
4.
The fund would not be reported in the government-wide statements. The resources are not intended to benefit the government itself.

5.
If the trust were to benefit the city itself, it would be accounted for in a permanent fund. Permanent funds are classified as governmental funds and accordingly are on a modified accrual basis. Therefore, the office building would not be reported in the fund, and depreciation would not be charged. In the city’s government-wide statements, the permanent fund would be reported like other governmental funds. The building would be reported as a capital asset and depreciation would be recognized.

EX 10-4

a.
Journal entries

(1)

Cash 
$100,000

Pledges Receivable
     20,000

Revenue

$120,000

To record contributions (Special revenue fund)

(2)

Supplies inventory
$30,000

Operating expenses
   85,000

Supplies expense
   30,000

Cash 

$145,000

To record the purchase and use of supplies (Special revenue fund)

(3)

Cash 
$   45,000

Investment revenue

$   45,000

To record interest revenue (Permanent fund)

(4)

Investments
$ 30,000

Investment revenue—appreciation

$ 30,000

To record capital gains (Permanent fund)

(5)

Investments
$  3,000

Investment revenue—appreciation

$  3,000

To record capital gains (Special revenue fund)

(6)

Nonreciprocal transfer to special revenue fund
$ 45,000

Cash 

$45,000

To record transfer to special revenue fund (Permanent fund)  This amount represents the distributable earnings ($45,000 of interest).  Per the agreement (d), the $30,000 increase in the market value of permanent fund investments must be added to principal.

Cash 
$ 45,000

Nonreciprocal transfer from permanent fund

$ 45,000

To record transfer to special revenue fund (Special revenue fund)

b.
The unrealized gains in the special revenue fund are expendable. The fund itself is expendable; earnings on expendable resources are also expendable.

c.
In the government-wide statements the transfer would not be shown. Inasmuch as both the special revenue and the permanent funds are governmental funds, the transfer would be eliminated in the consolidation process.

EX 10-5

1.
First year
Pension expenditure
$5

Cash 

$5

To record pension contribution and expenditure (general fund)

2.
Second year
Pension expenditure
$6

Cash 

$6

To record pension contribution and expenditure (general fund)

3.
The excess of pension cost over pension contribution (an obligation) would not be recorded in any governmental fund. Since governmental funds are on the modified accrual basis, the reported expenditure is the amount contributed to the pension fund (or to be contributed shortly after the end of the period). The difference between the pension expenditure and the annual pension cost (i.e., the excess of pension cost over pension contribution) is reported on the government-wide statement of net assets and in the schedule of long-term liabilities.

EX 10-6

The following table shows the impact on permanently restricted, temporarily restricted and unrestricted resources. The permanently restricted balance remains intact. Gains are added to temporarily restricted assets. Losses are subtracted first from the available balance in temporarily restricted resources, then from unrestricted resources. Recoveries of losses are added first to unrestricted resources (to the extent of previous reductions), then to temporarily restricted resources.



Net Assets Related to Investments



Permanently
Temporarily


Restricted
Restricted
 Unrestricted
Total

2008
Contribution
$2,000,000


$2,000,000

Investment gains

$120,000

120,000

Expenditures
                  
   (80,000)
             
      (80,000)

Balance, 12/31/08
$2,000,000
$  40,000
$         0
  2,040,000

2009
Investment losses
                  
   (40,000)
  (20,000)
      (60,000)

Balance, 12/31/09
$2,000,000
$           0
$(20,000)
$1,980,000

2010
Investment gains
                  
    50,000
  20,000
       70,000
Balance, 12/31/10
$2,000,000
$  50,000
$         0
$2,050,000
EX 10-7

1.
No depreciation

a.
NIS would have distributed the entire $1.3 million it collected in rent in each of the 15 years of the lease — thus $19.5 million.

b.
At the expiration of the lease, the market value of the building would be zero (assuming that NIS was correct in its estimate of a 15-year economic life). Hence, it would have on hand no cash for the acquisition of other assets. The principal of the endowment would have been entirely dissipated.

2.
Depreciation

a.
Annual depreciation would have been $0.8 million ($12 million divided by 15 years). Annual income would thereby have been $0.5 million ($1.3 million less 0.8 million) — a total of $7.5 million over the life of the lease.

b.
At the expiration of the lease, the market value of the building would be zero. However, the NIS would have on hand $12 million — the $19.5 million collected in rent less the distribution of $7.5 million. It could use this amount (plus any accumulated earnings on it) to acquire other assets. The principal of the endowment would have been preserved.

Problems

Continuing Problem

1.
Yes. There are three permanent funds reported in the CAFR: 3M Maintenance Endowment, Ellis Library Trust, and Perpetual Care. (p. 158) 

2.
Yes. The report includes fiduciary fund statements (in the combining fund section). Private-purpose trust funds include Barbara Jordan Memorial Fund, Science Fest, COA Customer Assistance, First Step-A Community Project, Leveraged Loan Pool, Library City Literacy Program, Telecommunity Partnership Fund, Unclaimed Property, and Voluntary Utility Assistance. Agency Funds include BCCP Permit Fund, Campaign Financing Fund, Municipal Court Fund, and Neighborhood Revitalization Funds. (Title page before 185)

3.
Note 8a provides information on the city’s pension funds. The city maintains three contributory, defined benefit plans: for city employees, police officers, and firefighters. They are single employer plans. (p. 64)

4.
The financial statements do not include pension expenses or expenditures as line items. However, it is clear that pension expenses and expenditures are incorporated into other categories of expenses and expenditures. Note 8b indicates the annual pension costs associated with each of the pension plans. (p. 65)

5.
Note 8c suggests that the city’s annual pension cost was $5.9 million more than actual contributions.  Note 8c indicates that the city has a net pension obligation of $11.7 million. (p. 65)

6.
The required supplementary information includes information on the actuarial value of assets and liabilities. As of the latest valuation dates (2003 or 2004), all three funds (city employees, police, and firefighter) were underfunded. (p. 104)

7.
The CAFR does not contain financial statements of the pension plans. It states that the statements of the plans are publicly available and indicates the addresses at which they can be found.  (p. 64)

8.
Note 15 reports that the city provides post-employment benefits to its retirees. These include access to medical and dental insurance for the retiree and the retiree’s family and $1,000 of life insurance on the retiree only. (p. 98) The city finances these benefits on a pay-as-you-go basis. Therefore, it does not maintain separate funds to account for these benefits and, consistent with current GASB standards, does not provide detailed actuarial information regarding the liabilities associated with these benefits. (p. 98)
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1.
Journal entries
(1)

Cash 
$4,000,000

Contributions

$4,000,000

To record the initial contribution to a nonexpendable permanent fund
(2)

Investment in bonds
$2,970,000

Cash 

$2,970,000

To record the purchase of bonds
(3)

Investment in common stock
$1,000,000

Cash 

$1,000,000

To record the purchase of common stock
(4)

Cash 
$  180,000

Investment in bonds
     3,000

Interest income

$  180,000

Investment gains—unrealized

     3,000

To record bond interest and appreciation
(5)

Cash 
$  550,000

Investment in common stock

$  500,000

Investment gains

    50,000

To record the sale of common stock
(6)

Investment in common stock
$  550,000

Cash 

$  550,000

To record the purchase of common stock
(7)

Nonreciprocal transfer to special revenue fund
$   33,000

Cash 

$   33,000

To record the transfer of expendable income to a special revenue fund
Expendable income was determined as follows:

Interest revenue
$180,000

Investment gains
    53,000
Total income
  233,000

Less:  5 percent of $4,000,000
 (200,000)

Income available for transfer
$  33,000
(8)

Interest revenue
$   180,000

Investments gains
    53,000

Contributions
4,000,000


Nonreciprocal transfer to special revenue fund

$    33,000

Fund balance (net assets)

   4,200,000

To close accounts
2.

Kerrville Independent School District

Permanent Computer Endowment Fund

Statement of Changes in Revenues, Expenditures and Changes in Fund Balance

Revenues

Contributions
$4,000,000

Interest
180,000

Investment gains
       53,000

    Total revenues
4,233,000

Transfer to special revenue fund
      (33,000)

Increase in fund balance
4,200,000

Beginning fund balance
                0

Ending fund balance
$4,200,000

Balance Sheet

Assets

Cash 
$   177,000

Investment in common stock
1,050,000

Investment in bonds
  2,973,000

   Total assets
4,200,000

Liabilities
                0

Fund balance
$4,200,000
3.
Donors typically stipulate that no investment gains are expendable (i.e., that they must be added to principal) so as to protect the endowment against inflation. The limitation of that restriction is that it encourages the entity to invest in high interest and dividend securities at the expense of securities that might promise appreciation and a high total return on investment. The approach taken by the donor in this example is preferable in that it ties the amount of earnings added to principal directly to the actual rate of inflation.

4.
In the district’s government-wide statements, the permanent fund would be consolidated with other governmental funds. The contribution would be reported along with other special and extraordinary items; the interest and investment gains would be reported with other investment income.
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1.



Net Assets Related to Investments — 2008



Permanently
Temporarily


Restricted
Restricted
 Unrestricted
Total

Beginning of year
$5,000,000
$           0
$600,000
$5,600,000

Interest and dividends

 100,000

   100,000

Distributions

 (100,000)

 (100,000)

Investment gains
                  
  500,000
             0
     500,000

End of year
$5,000,000
$500,000
$600,000
$6,100,000


Net Assets Related to Investments — 2009



Permanently
Temporarily


Restricted
Restricted
 Unrestricted
Total

Beginning of year
$5,000,000
$500,000
$600,000
$6,100,000

Interest and dividends

 100,000

   100,000

Distributions

 (100,000)

 (100,000)

Investment losses
                  
 (500,000)
(300,000)
    (800,000)

End of year
$5,000,000
$           0
$300,000  
$5,300,000


Net Assets Related to Investments — 2010



Permanently
Temporarily


Restricted
Restricted
 Unrestricted
Total

Beginning of year
$5,000,000
$           0
$300,000
$5,300,000

Interest and dividends

 100,000

   100,000

Distributions

 (100,000)

(100,000)

Investment gains
                  
  100,000
  300,000
     400,000

End of year
$5,000,000
$100,000
$600,000
$5,700,000
2.
The approach taken above assures that the principal remains intact. In effect, losses are assigned first to assets that are temporarily restricted and then to those that are unrestricted.
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1.
Income available for expenditure.

a.
Cash basis:

Rent
$600,000

Interest
  313,986
      Total income
$913,986
b.
Accrual basis

Rent
$600,000

Less: Depreciation (1/20th of $5,000,000)
 (250,000)

Income from warehouse
  350,000

Interest from bonds
  313,986

Less: Decline in market value of bonds
   (13,986)

Income from bonds
  300,000

      Total income
$650,000
2.
Year-End Balance Sheet

Cash Basis
 Accrual Basis
Cash 
$                0
$     263,986(a)

Bond
    5,000,000
    4,986,014
Warehouse
  5,000,000
  5,000,000

Less:  accumulated depreciation
                  0
       250,000
Book value of warehouse
    5,000,000
    4,750,000
      Total assets
$10,000,000
$10,000,000
Fund balance
$10,000,000
$10,000,000
(a)
The difference between the two incomes; only income per the accrual basis will be distributed

3.
There is no difference in fund balances. However, assuming that the depreciation  schedule reflects economic reality, the market value of the warehouse has declined and will continue to decline. At the end of 20 years the warehouse will be worth zero. Similarly, the value of the bonds will also continue to decline. At maturity the bonds will be worth only $4,485,512, their face value. The accrual basis, but not the cash basis, reflects these declines and assures that they are taken into account in computing expendable income. Also, since the actual values of the bonds and the warehouse is unaffected by choice of accounting method, the accrual basis foundation, which still has $263,986 cash on hand is clearly better off.
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1.
Amount available for expenditure

Beginning balance in expendable fund
$   280

Interest and dividends (of both expendable and nonexpendable funds)
    820

Rent
  1,800

Expenditures for maintenance
    (400)

Depreciation
    (500)

Investment gains on expendable funds (sales price 
of $20 less book value of $15, plus increase in 
market value of securities on hand at year-end)
       17
      Amount available for expenditure
$2,017
2.
Only the investment gains in the expendable funds, not the nonexpendable funds, are accounted for as expendable. Investment gains on nonexpendable funds are often not permitted to be expended so as to protect the principal from inflation. By contrast, expendable funds are, by definition, expendable; there is no need to protect the “principal.”

3.
The permanent fund is a governmental fund and is therefore accounted for on a modified accrual basis. The government-wide statements are on a full accrual basis. Hence, the building would be at cost, less accumulated depreciation.
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1.
Contribution of the entire $6 million

General fund
Pension expenditure
$3.0

Cash 

$3.0

To record the contribution to the pension fund (50 percent of $6 million)

Enterprise fund
Pension expense
$3.0

Cash 

$3.0

To record the contribution to the pension fund (50 percent of $6 million)

2.
Contribution of only $5.6 million of the required $6 million

General fund
Pension expenditure
$2.8

Cash 

$2.8

To record the contribution to the pension fund (50 percent of $5.6 million)

Enterprise fund
Pension expense
$3.0

Cash 

$2.8

Net pension obligation

 0.2

To record the contribution to the pension fund and the obligation for the difference between the annual required contribution and the actual contribution
3.
The general fund is accounted for on a modified accrual basis and the measurement focus is on expendable financial resources. Long-term liabilities are not recorded. The enterprise fund, on the other hand, is accounted for on a full accrual basis and the measurement focus is on all economic resources. Long-term obligations are recorded within the fund. The net pension obligation related to each fund type should be reported in the appropriate column (governmental activities or business-type activities) of the government-wide statement of net assets, and the total net pension obligation for all funds should be disclosed.  
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1. 

Pension expenditure
$250,000


Cash


$250,000

To record the pension expenditure in the general fund

2.

       Total assets

$7,200,000


Less: Total liabilities

       10,000

  Net plan assets

$7,190,000
3.         Accrued actuarial liability

$8,450,000


Actuarial value of assets

  7,200,000

  Unfunded actuarial liability

$1,250,000


4.       $24 million (the difference between the 2008 required contribution of $274,000 and the actual contribution of $250,000) — The liability indicates the sum of the amount that the government should have reported over the years — its cumulative annual required contribution less the sum of the amounts it actually contributed.  Hence, it is not an actuarial obligation.  It is the amount that the government should have contributed to the pension plan.  
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1.

Statement Of Net Assets Available For Benefits
January 1
(in thousands)

Cash 
$     67

Marketable securities and other investments (at fair value)
  3,180
      Total assets
$3,247

Less:  Liabilities to current retirees
        (4)

      Net assets available for benefits
$3,243
2.

Statement Of Changes In Net Assets Available For Benefits

December 31
(in thousands)

Additions
Contributions from employers and employees
$   138

Interest and dividends
   145

Net appreciation in the fair value of investments
       36
      Total additions
     319
Deductions
Benefits to retirees
   120

Investment and administrative expenses
       45
      Total deductions
     165
      Net increase in net assets available for benefits
   154

      Net assets available for benefits, January 1
  3,243
            Net assets available for benefits, December 31
$3,397
3.

Statement Of Net Assets Available For Benefits
December 31
(in thousands)

Cash 
$     92

Marketable securities and other investments (at fair value)
  3,307
      Total assets
$3,399

Less: Liabilities to current retirees
        (2)

      Net assets available for benefits
$3,397
4.
The actuarial information, which is not included in the basic financial statements, is critical to any assessment of the plan’s fiscal status. It encompasses the amounts owing to present and retired employees attributable to their years of service. This information would be reported by the plan in notes to the statements.  Notice that the funded ratio — that of net assets available for benefits (i.e., cash plus investments less liabilities to current retirees) to the actuarial accrued liability) decreased during the year from 94.5 percent to 92 percent. This signals a slight deterioration in the fiscal strength of the plan.

5.
The unfunded actuarial accrued liability is the difference between the actuarial accrued liability and the net assets available for plan benefits. Thus: $3,690 less $3,397 — $293. 
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1.
Pension plans are accounted for on an accrual basis. Therefore the amount of contributions actually received can be determined by analyzing the employer contributions and due from employer accounts:

Due from employer, beginning balance
$  46

Add: Employer contributions (those applicable to current year)
 541

Less:  Due from employer, ending balance
   (39)

Contributions received
$548
Cash 
$548

Employer contributions

$541

Due from employer

   7

To record employer contributions
2.
The payment of benefits can be determined by a similar analysis:

Benefits payable, beginning balance
$  37

Add: Benefits to which retirees are entitled for the year
 394

Less: Benefits payable, ending balance
     (6)

Benefits paid
$425
Benefits payable
$  31

Benefits to which retirees are entitled for the year
 394

Cash 

$425

To record benefits
3.
Investments in stocks and bonds are carried at fair value. Therefore, the decline in value includes unrealized as well as realized losses.

4.
The statements of net assets and changes in net assets do not incorporate actuarial information. Therefore, they indicate only the obligations to retirees that are due but not yet paid. They do not indicate the amounts earned by employees but payable in the future. Without actuarial information it is not possible to assess the plan’s fiscal status. Pension plans are required to provide this information in supplementary schedules and notes.
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1.
The fiscal health of the plan apparently improved in 2008. The absolute dollar amount of the unfunded actuarial accrued liability decreased by $130 million, the ratio of the actuarial value of assets to the actuarial accrued liability increased by 7 percentage points, and the unfunded actuarial accrued liability as a percent of covered payroll decreased by 18 percentage points. Each of these factors is consistent in indicating that the plan is better able to meet its obligations to current and future retirees in 2008 than in 2007.

2.
The value of plan assets could increase or decrease owing to:

· contributions from plan participants

· payments of benefits

· changes in the market value of plan assets

· investment earnings.

3.
The actuarial accrued liability could increase or decrease owing to:

· payments to beneficiaries

· increases in benefits earned by employees

· changes in promised benefits or other terms of the pension plan

· changes in actuarial assumptions.

4.
Since these expenditures will be made from governmental funds, employers need to report as expenditures only the amount payable from expendable available financial resources. In this instance, the amount paid ($106 million in 2008) was the full amount of the required contribution; hence that is the amount that the employers should report as the total expenditure. They need not add or subtract from any pension liability account.
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1.
The GASB has held that a government may account for special assessment debt and the resources set aside to service the debt in an agency fund only if it is not obligated “in any manner” for the debt. “Any manner” includes guaranteeing the debt. Since, in the example, the government guarantees the debt, it cannot account for it in an agency fund. Instead, it must account for it as if it were its own — i.e., as any other long-term debt. Similarly, it must account for the resources intended to service the debt in a debt service or comparable fund.

2.
A government can account for “pass-through” grants in an agency fund only if it is nothing more than a “cash-conduit” having no administrative responsibility for the grant. In the situation described, the government apparently satisfies this criterion and thus can account for the grant in an agency fund.

3.
In contrast to the circumstances in the previous example, the state selects the grant recipients and thus does have administrative responsibility. Hence, it should account for the grant in a governmental fund.

4.
Although governments generally account for taxes collected on behalf of other parties in agency funds, in this example the taxes are levied by the county, not the other towns. They are then distributed to the other governments. The county, therefore, is not merely an agent, but the government that imposes the tax. Therefore, the county should record the tax collections as a governmental fund revenue and the distribution as a governmental fund expenditure.
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1.

(1)

Interest receivable
$    31

Due to other governmental agencies

$    31

To recognize interest earned
(2)

Cash 
$    29

Interest receivable

$    29

To record the receipt of interest
(3)

Cash 
$30,000

Due to other governmental agencies

$30,000

To record the collection of sewer fees
(4)

Due to other governmental agencies
$45,000

Cash 

$45,000

To record payments to other governments

2.
Bad debts are the responsibility of the government on whose behalf the city is collecting the fees; not the city itself. Thus

Due to other governmental agencies
$10,000

Accounts receivable

$10,000

To record write-off of accounts receivable
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1. The most likely reason that the plan is only 57 percent funded is that up until the GASB issued Statement No. 45 the employer funded the health benefits on a pay-as-you-go basis.  Hence it made no contributions to the plan.
2. The net pension obligation is the amount reported on the balance sheet.  It represents the cumulative difference between what the employer actually contributed to the plan and what is should have contributed.  Per GASB Statement No. 45, the net pension obligation could be set at zero at the date of transition.  Since then the employer contributed 100 percent of what was required.

3. The percentage of “annual OPEB contributed” is 100 percent.  Moreover the net pension obligation is zero.

4. The fiscal health of the plan has improved as indicated by the increase in the funded ratio.

5. The reported expenditure would be the amount actually contributed (the annual OPEB cost); the reported expense would be the amount that should have been contributed.  In this case, the two are the same -- $950,400.
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1. Yes Houston does indeed have a problem.  The unfunded liability has increased dramatically, to the point where it is 453 percent of covered payroll and the plan in only 46 percent funded.

2. None of the unfunded liability will be reported on government-fund balance sheets (except insofar as the city has delay making its 2003 contribution until early the following year).  As indicated by the “net pension obligation,” $92.3 will be shown as the pension liability on the June 30, 2003 government-wide statement of net assets.

3. Houston has not be contributed the amount required by actuarial contributions.  The percent contributed has dropped from 94.0 percent in 2001 to 43.6 percent in 2004.

4. The dramatic increase in the actuarial liability between July 1, 2000 and July 1, 2003 suggests an improvement in pension benefits.  In fact, Houston’s problems can be traced to the adoption of a Deferred Retirement Option Plan (DROP) that gives special benefits to employees who are eligible to retire but elect to continue working. Even though the plan was first offered in 1999, the major increases in the actuarial liability did not appear until a couple of years later as it became obvious that far more employees than anticipated were taking advantage of the new benefit.

5. The decrease in plan assets is most likely attributable to an overall decline in stock prices.      

Questions for Research, Analysis and Discussion

1. The rationale for not reporting fiduciary funds on the basic financial statements is that the resources that they account for are not for the direct benefit of the government.  Thus, for example, the resources of a pension fund are for the benefit of employees, not the government.  On the other hand, there are cogent reasons for reporting them just like other funds of the government.  The government may not only be accountable for managing and safeguarding those resources but may be the primary beneficiary of any gains or losses in them. Thus, for example, the government may have to make up any shortfalls in the investment earnings of a pension fund and will be able to reduce its contributions to the fund if it outperforms expectations.  

2. The author is unaware of any authoritative guidelines on this issue.  A private purpose trust fund is defined as a fund “used to report all other trust arrangements under which principal and income benefit individuals, private organizations, or other governments.”  The college tuition programs unquestionably benefit the students whose parents pay into the funds.  For that reason they could logically be accounted for in private purpose trust funds.  On the other hand, however,  insofar as tuition increases more than expected, the state bears the risk and must make up for any shortfall.  Therefore, it might be argued that the programs should be accounted for in a governmental fund, such as a restricted fund.  The counter to this argument, however, is that the college tuition programs are similar in nature to pension funds and the risk of unexpected tuition increases is comparable to that of unexpected changes in an actuarial variable.  

3. Question 7.266 of the Comprehensive Implementation Guide addresses this question directly:
Even though the purpose of the fund seems to be to “benefit individuals,” the benefits are not specific benefits for specific individuals, but rather are in the context of the county’s responsibility for prisoner care and welfare—in effect, the funds serve to reduce the amount of resources the county would otherwise have to raise to pay for those expenditures. The benefits are part of the “corrections” function and are for the inmate population in general, not for individuals. If a separate fund is required, it should be a special revenue fund.

4. In this example the city is ultimately responsible for all aspects of the pension fund — it does nothing more than outsource certain administrative functions. It is no less responsible for the promised payments to retirees than if it had managed the fund itself.  Most significantly it is responsible for any investment and actuarial losses and is the beneficiary of corresponding gains. Accordingly, therefore, it would seem appropriate for the city to account for, and report, the fund as a fiduciary fund as if it had managed it itself.   
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